Possibly Useful Equations
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sin(a + b) = sin(a) cos(b) £ cos(a) sin(b)

cos(a £ b) = cos(a) cos(b) F sin(a) sin(b)
et = cos(wt) + isin(wt)
z(t) = ae™nrt 4 be~Wnt
x(t) = acoswpt + bsinwy,t

z(t) = et [a cos(wqat) + bsin(wgt)]
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SocV =Y

x = Ax + Bu
y=Cx+ Du

x = ®(t)x(0) + /0 ®(t — 7)Bu(r)dr

X(s) = [sT — A] "' x(0) 4 [sT — A] ' BU(s)
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V(w,¢) = e " [C(w, Q2 + [S(w, O)]?

Table 1: Laplace Transform Pairs

f(®) F(s)
u(t) = A, vt >0 4
u(t) = At, Vt > 0 4
o(t) 1
sin wt SJF%
cos wt S+Sw2
e~ % sin wt m
e~ % cos wt Mﬁrﬁ
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